
1/41JAMES 58-873

12

6

9 33,5 h

%

2700mm

2
2
5
5
m

m

605mm

002522032201

002522032201



2/41JAMES 58-873

max
5kg

max
5kg

max
5kg

max
15kg

max
15kg

max
15kg

51mm3R

104mm3L

1

2

3L
4

3R

5

5
6

7
7

8

8
9

10

10
11

11

12

13

14

16

16

17

17

18

18
19

19

20

20
21

14

15

15

NR DIM QTE COLLI

1 2250x551x15 1 3/8

2 2250x580x15 1 3/8

3L 827x535x15 1 2/8

3R 827x535x15 1 2/8

4 986x535x15 1 1/8

5 827x535x15 2 2/8

6 986x535x15 1 1/8

7 2249x535x15 2 4/8

8 827x515x22 2 2/8

9 986x515x22 1 1/8

10 827x50x15 2 1/8

11 827x50x15 2 1/8

12 986x50x15 1 1/8

13 986x50x15 1 1/8

14 1365x550x15 2 5/8

15 965x550x15 2 5/8

16 1100x200x15 2 5/8

17 1365x550x15 2 6/8

18 965x550x15 2 6/8

19 1100x200x15 2 6/8

20 2188x834x2 2 4/8

21 2188x993x2 1 3/8



3/41

O/ 8

JAMES 58-873

O/ 5O/ 5

Zb18
ZW

NR DIM QTE COLLI

Zb18 L-2200 1 8/8

ZW L-2200 H-50 3 8/8

SU L-2668 1 8/8

SD L-2664 1 8/8

0 10 20 30 40 50 60 70 80 90 100

1x A01 1x A02 2x A05 2x A06 4x A07

1x A09 2x A10 4x

3,5x16

W301x A08

1x1x

Zb18 ZW SU SD

Zb-18 ZW SU SD

20x S0148x T05 48x T04 1x K02

L3

21x C02

O/ 13

24x R02

24x

6,3x9,5

W20 6x E03 24X

6x11

W12 12x W49

6,3x13

24X W08

6X Za1

H-50

1x K03

Z5

2 x P01

4x13

W074x2X F01 2X F11

1XX J01

L-981

2XX J02

L-823

1XX

W1618x

5x40

2x

4x16

W25

1x O55

12X W08

3,5x13

W02190x

12x K50

zmień indeksy wózków do jamesa, 
tylko dopytaj ktorych!

4x Sp01 4x 2X Sz2

A
24x

3x



4/41JAMES 58-873

1x O56

R0516x

20x10x2

1x O55 R0616x

M10x1

Lc012x16x

M10x1

Tu01

 

   
 

 
 

 

   
 

 
 

 
 

 

u
l.P

rze
m

y
sło

w
a
 1

1

4
8
-2

0
0
 P

ru
d
n
ik

in
fo

@
fu

rn
ik

a
.p

l

w
w

w
.fu

rn
ik

a
.p

l

A
+

 4
2
0
0
K  

1
8
0
0
 lm

IP
2
0

3
0
 0

0
0
h

  1
5
 0

0
0

<
1
s

: 230V
~
50H

z
; 

kW
h/1000h

38,7

[m
m

]

1800x30x25

(2
x1

8
0
0
+
2
x5

2
0
)

  520x30x25

30
m

m

15
,5

m
m

x2

x3

6.1
7.1

2.1

1.
3.1

3.1

4.1

4.1

5.1

5.1

8.1

9.1
10.1

1 2

3

4

5

6

7

8
ON/O

FF

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 400m
m

2x W46

3,5x30

3x

3,5x15

W01

R0516x

20x10x2

1x O57

1x O58

COLLI 7

3x W34

3x16

2x W35

3x30

2x W35

3x30



5/41JAMES 58-873

1 COLLI 1 COLLI 2

3L

[2x]
5

[2x]

8

4

T05

16x

48X T05

3R

4 6 9 3L 3R
8 5

T05

12x

6

9

1 COLLI 1 COLLI 2

3L

[2x]
5

[2x]

8

4

6

9

T05

16x

48X T05

3R

4 6 9 3L 3R
8 5

T05

32x
T05

20x



6/41JAMES 58-873

3
COLLI 3

T04

T04

T04
T04

T04

T04

T04

T04

E03

1

3X E03 24X T04 4X S01

COLLI 4

3,5x13

W026X

T04

24x

1 7

S01

S01

2

18

5x40

X W16

[2x]

5

6

11
10

13

12

1x K02

L3

W16

K02

18x

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01

7

7

E03

E03

E03

W02

3x

12X S01 12 1310 11

S01

S01

11

[2x]

S01

13

S01

10
[2x]

60mm

60mm
90mm

90mm

90mm

90mm

60mm

60mm

S01

S01

S01

S01

S01

12

COLLI 1



7/41JAMES 58-873

T04

T04

T04
T04

T04

T04

T04

T04

E03

1

3X E03 24X T04 4X S01

3,5x13

W026X

T04

24x

COLLI 3

1

COLLI 4

7

S01

S01

4

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01

7

7

E03

E03

E03

W02

3x

T04

T04

T04
T04

T04

T04

T04

T04

E03

1

S01

S01

E03

W02

T04

8x

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01

7

7

E03

E03

E03

W02

2x
T04

16x



8/41JAMES 58-873

6
3X R02 3

6,3x9,5

X W20

R02

W20
3x

B

 A

3x

A

7

5 B

1

 A

B

 A

3x

R02

W20

C

5

3x R02 3x

6,3x9,5

W20

COLLI 4 20

20

20

COLLI 3

T04

T04

T04
T04

T04

T04

T04

T04

E03

1

3X E03 24X T04 4X S01

COLLI 4

3,5x13

W026X

T04

24x

1 7

S01

S01

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01

7

7

E03

E03

E03

W02

3x



9/41JAMES 58-873

7 3x R02 3x

6,3x9,5

W20

R02

W20

C

3x

A

B

B

A
7

6

COLLI 3

7

R02

W20

8

2x R02 2x

6,3x9,5

W20

B

A

10x

C

3L

21

21
21

8
24X T04 3X E03 4X S01

3,5x13

W026X

COLLI 3

COLLI 4

7

2

T04

T04

T04

T04

T04

T04

T04
T04

2

E03

S01

24x
T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01
7

7

E03

E03

S01

E03

W02

3xT04
S01

104mm3L



10/41JAMES 58-873

7 3x R02 3x

6,3x9,5

W20

R02

W20

C

3x

A

B

B

A
7

6

COLLI 3
21

21
21

8
24X T04 3X E03 4X S01

3,5x13

W026X

COLLI 4

7

COLLI 3

2

T04

T04

T04

T04

T04

T04

T04
T04

2

E03

S01

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01
7

7

E03

E03

S01

E03

W02

2x

T04

S01

E03

W02

T04

8x

16x



11/41JAMES 58-873

10 3x R02

3x

6,3x9,5

W20

R02

W20

A
B

 A

3x

7

8 24X T04 3X E03 4X S01

3,5x13

W026X

COLLI 3 COLLI 4

72

T04

T04

T04

T04

T04

T04

T04
T04

2

E03

S01

24x
T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

T04

S01
7

7

E03

E03

S01

E03

W02

3xT04
S01

9 3x R02 3x

6,3x9,5

W20

R02

W20

C

3x

A

B

B

A
7

6

COLLI 3
21

21
21



12/41JAMES 58-873

12

B

B

R02

W20

C

A

5

3x

A

3x R02 3x

6,3x9,5

W20

COLLI 4

B

A

R02

W20

10x

C

4

9

2x R02 2x

6,3x9,5

W2011

20
2020



13/41JAMES 58-873

14

10x

R02

W20

C

2x R02 2x

6,3x9,5

W20

8A

B 3R

13

R02

W20

AB

3x R02 3x

6,3x9,5

W20

 A

3x

2



14/41JAMES 58-873

15 1XX J01

L-981

2XX J02

L-823

21x C02

O/ 13

3x

J01
J02

C02
20

20

20

C02

18x

20

20 20

C02



15/41JAMES 58-873

1x O57

2x W46

3,5x30

16 COLLI 7

A

O57

C
O57

W35

B

D

W35

O57

O57 W352x W35

3x30

O57

O57

W35

B



16/41JAMES 58-873

P01

W07

F01

F11

A
24x

3,5x13

W0224x2X P01

4x13

W074x2X F012X F11

17

R02
W02

4x



17/41JAMES 58-873

18

19

COLLI 8

SU SD

SU

B

2x A10

3,5x13

W024X

1x K03

Z5

A10

A10

SU

K03

A10

A10

SU

K03

SU

12x

SU

W49
W49

C

B

A08

A08

W30

W30

A

A08

A08

W30

W30

A

12x W49

6,3x13

1x A08 4x

3,5x16

W30



18/41JAMES 58-873

20

A09

A

A09

SD

1x A09

SD

3,5x13

W0210X

SD

A09

A

A09

SD

A09

10x
SD

SD

W02

W02

B



19/41JAMES 58-873

21
2x A07 2x A05 12X

6x11

W12 1x A01 1x A02

W12
W12

A07

A07

A05C

B

W12 W12

W12

W12

A01

COLLI 5

14

15

15

14

16

16

14 15 16

A A02

W12 W12

W12

W12

L

max
5kg

max
5kg

max
5kg

max
15kg

max
15kg

max
15kg

1

2

3L
4

3R

5

5
6

7
7

8

8
9

10

10
11

11

12

13

14

16

16

17

17

18

18
19

19

20

20
21

14

15

15

NR DIM QTE COLLI

1 2250x551x15 1 3/8

2 2250x580x15 1 3/8

3L 827x535x15 1 2/8

3R 827x535x15 1 2/8

4 986x535x15 1 1/8

5 827x535x15 2 2/8

6 986x535x15 1 2/8

7 2249x535x15 2 4/8

8 827x515x22 2 2/8

9 986x515x22 1 1/8

10 827x50x15 2 1/8

11 827x50x15 2 1/8

12 986x50x15 1 1/8

13 986x50x15 1 1/8

14 1365x550x15 2 5/8

15 965x550x15 2 5/8

16 1100x200x15 2 5/8

17 1365x550x15 2 6/8

18 965x550x15 2 6/8

19 1100x200x15 2 6/8

20 2188x834x2 2 4/8

21 2188x993x2 1 3/8



20/41JAMES 58-873

22

14

15

15

14

16

16

L

W02

W08

A

W08 6X K506X

W02

A
6x

6x
K50

3,5x13

W0248x



21/41JAMES 58-873

23

Zb18

A

14

14

15

15

16

1x ZW1x

3,5x13

W0224xZb18

B

W02

Zb18

W02

W02

COLLI 8

Zb18

16

L

W02

W02

W02

W02
W02

ZW

W02

B
W02

W02

zw



22/41JAMES 58-873

24

14

14

15

15

16

2X Za1

H-50

Za1

ZW

16

C

L



23/41JAMES 58-873

25

14

14

15

15

16

E W25

Zb18

1XX2x

4x16

W25

16

W02 W25

2x

D

L

1x Sz2

ZW

Sz2

Sz2

ZW



24/41JAMES 58-873

26

14

15

15

14

16

16

L

A

B

D

C



25/41JAMES 58-873

27

17

18

18

17

19

19

COLLI 6

17 18 19

R

320m
m

70m
m

18

320m
m

70m
m

18

320m
m

320m
m

70m
m

18

18

19

max
5kg

max
5kg

max
5kg

max
15kg

max
15kg

max
15kg

1

2

3L
4

3R

5

5
6

7
7

8

8
9

10

10
11

11

12

13

14

16

16

17

17

18

18
19

19

20

20
21

14

15

15

NR DIM QTE COLLI

1 2250x551x15 1 3/8

2 2250x580x15 1 3/8

3L 827x535x15 1 2/8

3R 827x535x15 1 2/8

4 986x535x15 1 1/8

5 827x535x15 2 2/8

6 986x535x15 1 2/8

7 2249x535x15 2 4/8

8 827x515x22 2 2/8

9 986x515x22 1 1/8

10 827x50x15 2 1/8

11 827x50x15 2 1/8

12 986x50x15 1 1/8

13 986x50x15 1 1/8

14 1365x550x15 2 5/8

15 965x550x15 2 5/8

16 1100x200x15 2 5/8

17 1365x550x15 2 6/8

18 965x550x15 2 6/8

19 1100x200x15 2 6/8

20 2188x834x2 2 4/8

21 2188x993x2 1 3/8



26/41JAMES 58-873

28
2x A06 2x A07 12X

6x11

W12

W12 W12

A07

A07

A06

C

W12 W12

W12

W12

W12
W12 W12

W12

A

B

17

18

18

17

19

19

R

1x1x

320m
m

70m
m

18

320m
m

70m
m

18



27/41JAMES 58-873

29
6X K50 6x W08

W02

W02

W08

A

A

17

18

18

17

19

19

R

6x

6x

K50

3,5x13

W0248x



28/41JAMES 58-873

17

18

18

17

19

19

3,5x13

W0224x 4X Za1

H-50

ZW2x

Za1

ZW

ZW

W02

W02

W02

A
COLLI 8

R

W02

W02

W02

ZW

B

C

Za1

ZW

C

30

ZW

A

B



29/41JAMES 58-873

17

18

18

17

19

19

R

31
1x Sz2

Sz2

ZW

ZW

Sz2



30/41JAMES 58-873

1x O58

1.
W34

O58

W34
W34

O58

2.

17

18

18

17

19

19

R

32 COLLI 7

O58 W343x W34

3x16

30/41JAMES 58-873

1.
W34

O58

W34 W34

O58

2.

17

18

18

17

19

19

R

32 COLLI 7

1x O583x W34

3x16

058W34



31/41JAMES 58-873

COLLI 7

u
l.P

rze
m

y
sło

w
a
 1

1

4
8
-2

0
0
 P

ru
d
n
ik

in
fo

@
fu

rn
ik

a
.p

l

w
w

w
.fu

rn
ik

a
.p

l

A
+

 4
2
0
0
K  

1
8
0
0
 lm

IP
2
030 000h

  15 000

<1s

: 2
3
0
V

~
5
0
H

z
; 

kW
h/1000h

38,7

[m
m

]

1800x30x25

(2
x1

8
0
0
+
2
x5

2
0
)

  520x30x25

30
m

m

15
,5

m
m

x2

x3

6.1
7.1

2.1

1.
3.1

3.1

4.1

4.1

5.1

5.1

8.1

9.1
10.1

1 2

3

4

5

6

7

8
ON/O

FF

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 400m
m

1x O56 16x

M10x1

Tu01 R0516x

20x10x2

R0616x

M10x1

u
l.P

rze
m

y
sło

w
a
 1

1

4
8
-2

0
0
 P

ru
d
n
ik

in
fo

@
fu

rn
ik

a
.p

l

w
w

w
.fu

rn
ik

a
.p

l

A
+

 4
2
0
0
K  

1
8
0
0
 lm

IP
2
0

3
0
 0

0
0
h

  1
5
 0

0
0

<
1
s

: 230V
~
50H

z
; 

kW
h/1000h

38,7

[m
m

]

1800x30x25

(2
x1

8
0
0
+
2
x5

2
0
)

  520x30x25

30
m

m

15
,5

m
m

x2

x3

6.1
7.1

2.1

1.
3.1

3.1

4.1

4.1

5.1

5.1

8.1

9.1
10.1

1 2

3

4

5

6

7

8
ON/O

FF

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 400m
m

33

31/41JAMES 58-873

COLLI 7

1x O56 16x

M10x1

Tu01 R0516x

20x10x2

R0616x

M10x1

33



32/41JAMES 58-873

R0616x

M10x1

R0516x

20x10x2

16x

M10x1

Tu01 1x O56

22mm

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

Tu01

16x Tu01

O56

O56

Tu01

Tu01

O56

A

B

22mm

O56

Tu01

34

COLLI 7

u
l.P

rze
m

y
sło

w
a
 1

1

4
8
-2

0
0
 P

ru
d
n
ik

in
fo

@
fu

rn
ik

a
.p

l

w
w

w
.fu

rn
ik

a
.p

l

A
+

 4
2
0
0
K  

1
8
0
0
 lm

IP
2
030 000h

  15 000

<1s

: 2
3
0
V

~
5
0
H

z
; 

kW
h/1000h

38,7

[m
m

]

1800x30x25

(2
x1

8
0
0
+
2
x5

2
0
)

  520x30x25

30
m

m

15
,5

m
m

x2

x3

6.1
7.1

2.1

1.
3.1

3.1

4.1

4.1

5.1

5.1

8.1

9.1
10.1

1 2

3

4

5

6

7

8
ON/O

FF

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 100m
m

 90m
m

 90m
m

 90m
m

 400m
m



33/41JAMES 58-873

R0616x

M10x1

R0516x

20x10x2

R054x

20x10x2

R064x

M10x1

F-02

R05

R05

R06

R06

R06

R06

A

B

CR

35

Primary illustrations

Mix and match primary illustrations to create many positions - examples below.

B
u

ild
 t

h
e

 u
se

r 
g

u
id

e

2

R05

R05

R06

R06

R06

R06

A

B

C



34/41JAMES 58-873

R0616x

M10x1

R0516x

20x10x2

R0512x

20x10x2

R0612x

M10x1

R

R05

R05

R06

R06

R06

R06

R06

R06

R06

R06

R06

R06

R06

R06

R06

R06

R06

A B C
R05

R05

R05

R05

R05

R05

36



35/41JAMES 58-873

R0616x

M10x1

R0516x

20x10x2

R

R05

R05

R06

R06

R06

37

Primary illustrations

Mix and match primary illustrations to create many positions - examples below.

B
u

ild
 t

h
e

 u
s
e

r 
g

u
id

e

2

R



36/41JAMES 58-873

Lc012xSp01

R
O58

O58

1x Sp01

38
1x Sp01

O58

O58

O58

O58

Sp01
Sp01

Sp01

O58

R
O58

R
O58

O58

Sp01

Sp01Sp01



37/41JAMES 58-873

3x

Lc012x

3x Sp01

39
2x Sp01

O58

O58

O58

O58

Sp01
Sp01

Sp01

O58

Sp01

Sp01

R
O58

O58

Sp01

Lc01

Lc01

Sp01

Sp01

Sp01Sp01

R
O58

O58

Sp01

Lc01

Sp01

Lc01

2x

COLLI 7

Lc01



38/41JAMES 58-873

3x

R
O58

O58

B

Sp01

Sp01

3x Sp01

40

Sp01

1x Sp01

O58

O58

O58

O58

Sp01
Sp01

Sp01

O58 Sp01

Sp01

Sp01



39/41JAMES 58-873

Lc012x

R
O58

O58

Lc01
B

2x

C

O58

O58

O58

O58

A

4x Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Lc01

Lc01

A

B

D

14

16

16

17

17

18

18
19

19

14

15

15

41

R

17

18

18

17

19

19

C

O55



40/41JAMES 58-873

Lc012x

R
O58

O58

Lc01
B

2x

C

O58

O58

O58

O58

A

4x Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Lc01

Lc01

14

16

16

17

17

18

18
19

19

14

15

15

42
1x O55 O55

COLLI 7

O55



41/41JAMES 58-873

Lc012x

R
O58

O58

Lc01
B

2x

C

O58

O58

O58

O58

A

4x Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Sp01

Lc01

Lc01

max
5kg

max
15kg

max
15kg

max
15kg

max
5kg

max
5kg

%

100%

L

R

43


	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14
	Strona 15
	Strona 16
	Strona 17
	Strona 18
	Strona 19
	Strona 20
	Strona 21
	Strona 22
	Strona 23
	Strona 24
	Strona 25
	Strona 26
	Strona 27
	Strona 28
	Strona 29
	Strona 30
	Strona 31
	Strona 32
	Strona 33
	Strona 34
	Strona 35
	Strona 36
	Strona 37
	Strona 38
	Strona 39
	Strona 40
	Strona 41

